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> = cm

> Het lcm

A7z o| B JACB = 30°

AB = V3tan30° = V3 =1 (cm)

o
V3




o2 283 22 AABC oA /B =85°, /C =
65°, BC =12 & o, AB ] Aol &4 o}
A Z42]7kA] P2 (T sin 65 ° = 0.9063)

A

@ 20.153 @21.751 B 22.482
@ 23.581 ® 24.372

B

/A =180°-(85°+65°) =30°
BH = 125in65° = 10.8756

BH
sin 30 °

. AB=

= 10.8756 x 2 = 21.7512




£ 103 201 AB £ A 502 ot
2099 T 4 0B AU AT
A& ABAOW JHMJ%DE} 0
St1, AB = 8cm, /BAC =30° ¥ o), A 40

ACBD 9] §ol& 0}043}.

’ “-8cm-" /B

(BCD = /BAC =30°

/ACB =90° o]2& /ABC = 60°

ACBD ©j|A

/BDC = /CBA - /BCD = 60°-30° = 30°

- 1
. BD = BC = 8sin 30 :8x§:4 (cm)
. (ACBD2] HoJ)

:%x4x4xsin(180°—120°)
=443 (ch)




AABC A AABHh: 180° - /B
sin(180° - /B) = — o|2.2
h =0 x sin(180° — /B)

1 1
.. AABC = §ah = iaEl sin(180° — /B)

\_a__f’

AABC 9|4 /ABH = 180° - /B

sin(180° - /B) = —

olm g
h = ¢ xsin(180° — /B)

1 1
w2t AABC = Eah = §ac sin(180° — /B) °|t}




5. ok aslo) gzl yolg Fateler,
(&, Bl e

—_

AABC = = x AC x BC x sin(180° — 135°)

2
:—><3><4\/§><\/7_:6

Do

[\)




vV Vv
02
L

482

(BBAPAE ABCD < o)

X 12 X 8 X sin 45° X 2

V2

:1><12><8><—><2
2 2

=482

1
2




t}e 123} Zro] &= tjztAlo] o
E ABCD 9] ¥o]7} 36 V2em? & o,

@ 8cm @ 10cm @12cm

B

@ 14cm

® 16cm

1
xxxxEXsin45:36\/§

« V2 _ 56y
2

x2 =144

x=12 (cm)

x2 %

l\.’:l»—A




S 1o A gABCD 9] Y o] & 15t
4

Wl 22 A9 gl

(AHFd ABCDO] Hol)=( )cm?
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=

>
> &gl 20

B

(A1l o) = Hh2H x B ZH x | x sind

1
whhA 8 x 10 x 3 % sin 30° = 20( cm?) o]t}
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d#2] ABCD 7} =3 ®Hof tfsto
45° 93 7] &) A Qlek. o] wf, A
At EBCF 9] Yo]&?

@18 @182 @ 48V3 @ 45VF O 4316

BE = 8 x cos45° = 4V?2,
Hol=4v2x 12 = 48V2




10.

L
w

/ACB = 30° °]E& DE = EF xsin30°
cos30° =3

oBEFC 7} Ao 22 CF = 23
rr}aw Pk} she 4215 0] Hale

V:§>< V3 x 3x2V3 = 9(cm?) ot}

~—




11, 293 2ol A A %ol Lokr] ool 100m Bol7l F 44
B. ColH A & &eich £ 2te] 2718 ZAskedeid, 72, 65° ]3]
ok thg % ol h B Fo7] 918 SuhE A7

=~

100 100
@ sin 25° — sin 18° @ tan 25° — tan 18°
100 @ sin 25° — sin 18°
cos 25° — cos 18° 100
o) cos 25° — cos 18°
100
100 100

~ tan(90° — 65°) — tan(90° — 72°)  tan25° — tan 18°




12. o3 I¥7 22 YPAE ABCD
oA thZtA BD 9t AC o] wHS P
g} gt} /BCD = 60°, AD = 12cm,
AB = 8cm ¥ W], AAPD 2] Yo|&
oot

@12\/3 @ 14v3 ©® 16V3 @ 18v3 B 203

S5 ~
AAPD = —AABD

X — X 8 X 12 X sin 60°




13.

o2 1P o] HAAHE ABCD A

o] Yo7} 36 V3 & uff, HPAH
3 ABCD 9] =d9] do]&=?

®3 @3 ® 36 @ 40

AB = x 2} 5}H x x 8 xsin60° = 36 V3
x=9
wheba] E29] Zoli=2x (84 9) = 34 o[t




14. o2 139 AABC oA A : /B: /C =
3:4:50/1 Y0 9 Wtz =29 ZAo|r}
24cm € 9], AABC 9] Ylo]=?

264(2+ V3

0144 3+ V3

3)

(3+ V3)
@149(2+x/§)
288 (2 + V3)
3(3+V5)

® 288 (3+ V3

~&B

(A:/B:/C=3:4:50B&

(BOC = 90°, /ZAOC = 120°, /AOB = 150°
(AABC9] Hlo])

= AAOB + ABOC + AAOC

1
+ 3 % 242 x sin (180° - 120°)

1
=3 X 242 X (sin 30° + sin 90° + sin 60°)

1 1 V3
=-x22x =41+ —
2>< x(2—|— +2>

=144 (3 + V3) (cm?)

1 1
=3 242 x sin (180° - 150°) + 3 X 242 x sin 90°




15. & I"HI 22 A4d

Z
ABCD 9] go]&=7
D 30V3 @ 313
® 323 @33«& C
® 343 9

B )

A Bt DE 2ot
1 1
DABCD:5x10><12><sin60°+§x6><2><sin60°
=60x\/7§+6x‘/7§

=30V3+3V3=33V3




16. o= 183 Zo] AW ez RH 10m ol = 7IFE F

A, BolA 3ot & L7t 242F 50°, 55° 4 o], ths A
ol-g3ste] F A4 A, B Atole] A E?

==Y
o o

—_

2tz sin cos tan
35 0.5736 0.8192 0.7002
40 0,6428 0.7660 0.8391

D 7.002m @ 8.192m ® 14.088m
@15.393m ® 15.852m

AH = 10 x tan 40° = 8.391( m)
BH = 10 x tan 35° = 7.002( m)
w2tA] AH + BH = 8.192 + 7.002 = 15.393(m) ©]t}.




17. o8 183 28 AABC oA AB = 24, /B = 60° ©]12 AD 7} BC
o] $¥ < uf, AD 9] do]E F35}H?

@6vs @ ® 12 @ 12V3  © 4V13

1) AC = 245sin60° = 12V3
BC = 24 cos60° = 12
DC=6

2) AD = /62 + (12V3)2 =6 V13




B3] = Ao A 6m Dol Z oA A
g 8o & ko] 3717k 51°, Wtk
2 Zvo] 37171 36° Atk o] g AA|
9] Eol& Fotolet. (T, tanb1° = 1.2,
tan 36° = 0.7)

® 9.2 (m) @ 10 (m)
3)11.4 (m) @ 12.6 (m)
® 13.2(m)

BC =6tan51° = 6x 1.2 = 7.2 (m)
CD = 6tan36° = 6 x 0.7 = 4.2 (m)
- BD=BC+CD=72+42=11.4(m)




19. & 1389 AABC oA /A =30°, ,CBH = 60°, AB =40 ¢ o,
AABC 9] ¥o]&=?

@D 20V3 @ 2003 @400«/5
@ 600 V3 ® 800V3

B ~

. o h
BlEI= tan 30°° BH = tan 60°
AB—AO-BO— " h

tan30°  tan 60°

(Y a0 k( 2
tan30° tan60° V3

.'.h=40><‘/7§=20«/§

1
AABC 9] 15101%40><20\/§><5 = 400V3




20.

ok Y o] WA Zol7t 12 &) Yol Sk HAlolZt

Blo] Sy 4+ S5 — 5127

ofl
1o

@® 36 @ 48 ® 60 @)12 ® 108

AyolZde 1d9AY 5 Mol 12 o3 1 79 Zol
oIS 12 2 o] 7ol e
1

S = - x12x12 xsin 30° = 36

S1=Sx5=180
S; =S x3=108
Sy =Sx4=144
wabA] S, + Sg — S; = 108 + 144 — 180 = 72 ©|t},

30° <l




21.

o3 293} 2ol «C =90° Q1 A ZHt
74 ABC Al /B = 30° ©]a, BC =
6\/§CH1 o] [q1 LHXJ OJ 1 _,] 1;1_]—1120
dol& oozt

B <130

643 em--

| 2
> HE 3v3-3cm

=,
1" e~

AY

A\

@]

1

AC =BCtan30° =6 V3 x =6 (cm)

%xmxA_C:AIBC+AICA+AIAB

1 1 1 1
§x6\/§x6:§x6\/§xr+§x6xr+§xl2xr

(9+3V3)r=18v3 . r=3V3-3 (cm)




22,

the AZAZROIA x, y O FE Fol A 2

ol gto] 4h7u] 2 L A9

® x=5sin20°,y=

tan 20°
5

sin 20°
y = 5sin 20°
5

~ tan20° r= cos 20°
5 5

5 5
@x tan20° °°  sin20°

, sin 20° = g, cos 20°
y




23. Th& gelA AH ©] Zolg Tt

D V2em ® V3cm @Qﬁcm
@ 3+v3cm ® 443cm

~&B

— 4
AH =
tan (90°4— 30°) — tan (90° — 60°)

- tan 20" — tan 30°

= \/5_% =23 (cm)




thS 83} Zro] AH7Fe ABC 9] 914 Y O o] tiste] & AB, & BC,
T CA © Zolo] H|7F4:3: 50|10, AB = V3 ¥ o, BC 9 g2
otef gt

59 ZdoJo] H|7}4:3: 50|22
(AOB: /BOC: /COA=4:3:5
o2tA LAOB = 120°, /BOC = 90°,

(COA = 150° o|Z, AFZ< (A, B, ([ & ZZ
45° 75°, 60°
AREEEECE
- 3
AB BC — sinA-—— X2
= = AB= 2% 3= 120
sinC sinA’ C sin C ng_ V2 ol
. BC =12




25. o 2ol A nABCD & Aol .
(EAD = 60°, AB = 8cm ¥ uj, A=
l?"lj\': 5}0]2 Ol'oqa]' A 60° D
80fn
\
B C
» E cm?
[> ®™eh 24cm?
@:EsinﬁOo:Sx\/T§ =43 (cm)
wetA ADEC ] Hol=
1 _
3 x ED x CD X sin (180° — (30° + 90°))
:%x4\/§x8x%§ =24 (cm?) ]tk




